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Lecture 02: Phrase Structure and Categories

1.   X-bar Theory (from Chomsky 1970 and subsequent developments)

· Motivations

- Endocentricity

- Existence of intermediate categories

- Distinction between complements and adjuncts

- Cross-categorial generalizations



· Content of the X-bar theory

- The rules

- XP for all NP, VP, AP, PP

· Feature-based categories (Chomsky 1970)

- Substantives and predicates
- [(N, (V] categories

2.  Extended X-bar Theory

· Sentence as IP (Huang 1982, Chomsky 1986b, etc.)

- Problems of the rule S ( NP (Aux) VP:

· Exocentric or phrasal head?

· Ternary branching

· Constituency—as evidenced by coordination

- IP hypothesis: 

· Aux/Infl as head of S; hence S = IP

· Problems solved, plus

· Greenberg’s generalizations, etc.

· S’ as CP (Stowell 1981, Chomsky 1986b, etc.)

- Problems of the rule S’  (comp) S

· S as head, a phrasal head, + a lexical non-head?

· Greenberg’s generalizations, etc.

- CP hypothesis: C is head of S’, hence S’ = CP

· The DP hypothesis (Abney 1987, Fukui/Speas 1986, etc.)

- Parallels the CP/IP system

- D as head of NP

3.
Lexical Categories vs. Functional Categories

•
Open vs. closed classes
•
Semantic distinction: 


-
Conceptual content vs. grammatical function


-
Predicates vs. Arguments


-
Properties vs. Reference

•
Comparative and historical perspectives

•
Functional categories as a source of language variation (Borer 1984, Chomsky 1995, Fukui 1995)

- Both macrovariations and microvariations



4.
Is the existence of certain functional categories parameterized?  

· Is TP universal? AgrP?

· Is DP universal?

· Nominal mapping parameter? (Chierchia 1998)

· DP in a language with no D? (Progovac 1999 “with apologies”)

5.  Categorial features of functional categories

a.
Kinds of IP: gerunds, infinitivals, participials, and tensed clauses

b.
Kinds of CP: conjunction or P as complementizer

6.  VP internal subject hypothesis (Kuroda 1988, Fukui & Speas 1986, 

     Sportiche, Contreras, etc.; Huang 1993.)

7.  CP and German phrase structure: “V2”

a.
Ich liebe dich.   ‘I love you.’

b.   Dich liebe ich.  ‘I love you.’

c.   Johan hat gestern die Bücher gekauft.  

      ‘John has yesterday the books bought.’

d.  Gestern hat Johan die Bücher gekauft.

e.  Die Büchen hat Johan gestern gekauft.

f.  Die Frau weiss nicht dass ich sie liebe. 

    ‘The woman knows not that I her love.’

g. Die Frau weiss nicht dass Johan gestern die Bücher gekauft hat.

    ‘The woman does not know that John bought the books yesterday.’

8.
Split Categories

· The split IP hypothesis (Pollock 1989, Cinque 1997, etc.)

· The split DP hypothesis (Tang 1991, Li 1999, Longobardi 1997, etc.)

· The split CP hypothesis (Rizzi 1998, Nishigauchi 1998, etc.)

· The VP Shell hypothesis (Larson 1988, etc.) 

· The VP-shell hypothesis might be called the “split VP hypothesis” but this latter term has been used for Koizumi’s (1993) vP-AgrO-VP
9.  Fast forward: deriving the X-theory and the head parameter.

                   (Pollock 1989, Lasnik 1999, and Kayne 1994.)
Handout 02 supplement:

On Head Movement and the Split IP Hypothesis

(More details are in Pollock (1989), Roberts (1997) and references cited.)

1. Verb Movement

(1)
  Jean embrasse souvent Marie

*Jean souvent embrasse Marie

*John kisses often Mary.

  John often kisses Mary.

(2)
  Jean (ne) mange pas de chocolat

*Jean (ne) pas mange de chocolat

*John eats not chocolate

  John does not eat chocolate

(3)
  Les enfants mangent tous le chocolat

*Les enfants tous mangent le chocolat

*The children eat all chocolate

  The children all eat chocolate

Auxiliaries:

(4)
Peter has often played the viola.

John has not played the viola for a while

The kids have all played the viola for years

Infinitivals

(5)
Ne pas manger de chocolat est une honte

            Not to-eat  chocolate    is   a     disgrace

(6)
*Ne manger pas de chocolat est une honte

                    to-eat   not chocolate    is    a    disgrace

2.  English vs. French (Emonds 1978):

French has V-I movement, English does not (except perhaps Aux-I movement or Aux is simply base-generated in I).

3.  Head Movement Constraint
(7)
Which girl has he kissed?

(8)
Quelle fille a-t-il embrassée?

(9)
  Which girl does he kiss?

*Which girl kisses he?

     (10)
  Quelle fille embrasse-t-il?

     (11)


V-to-I

I-to-C

V-to-C


English
no

yes

no


French
yes

yes

yes

     (12)
 Head Movement Constraint (Travis 1984):

 A head X can only move to the minimally c-commanding head position.

( minimally c-commands ( iff ( c-commands ( and there is no (, such that  ( c-commands ( but does not c-command (.
4.
The Split INFL Hypothesis


(13)
À peine parler l’italien après cinq ans d’étude est une honte



Hardly to-speak Italian after five years of study is a disgrace


(14)
Parler à peine l’italien après cinq ans d’étude est une honte



to-speak hardly Italian after 5 years of study is a disgrace


(15)
Split IP:



CP – AgrP - (Neg/often/all) – TP - (Adv) – VP

· Participle Agreement


(17)
Jean les (f.pl.)     a     pentes (f.pl.)



John them           has painted



John has painted them.



(The participle agrees with the object pronoun, not subject.)


(18)
Quelle fille a-t-il embrassée?



Which girl  has-he kissed?



(The –e ending marks agreement with the object which wh-moved.)


(19)
AgrOP



CP – AgrSP - (Neg/often/all) – TP (Adv) – AgrOP – VP

 5. Head Movement Constraint reduced to ECP

(18)
English:
  [CP Which girl didi [​​​​IP he ti kiss]]?

(19)
English:
*[CP Which girl kissedi [​​​​IP he I ti]]?

(20)   What will he buy?

[CP What willi [​​​​IP he ti [VP buy ]]]?

(21) *What buy he will?

[CP What buyi [​​​​IP he will [VP ti ]]]?

(22)   What has he been doing this week?

(23) *What been he has doing this week?

(24) *What doing he has been this week?

The good sentences are allowed by HMC and the bad ones excluded by HMC.  But do the good sentences (18, 20, 22) obey ECP?  The answer is yes, because IP is not a barrier, and so the traces of will in (20) and has in (22) is properly antecedent-governed.  All the good cases are local I-C movement.    What about V-I movement in French and V-I-C in French? (or Aux-I and Aux-I-C in English)

(25) Jean embrasse souvent Marie

John kisses often Marie
[IP Jean embrasse [​VP ti Marie]]

(26) Quelle fille embrasse-t-il?
[​CP  Quelle fille embrassei [IP –t-il  ti' [VP  tv Marie]]]

Which girl kisses-he?

      Which girl  kisses             he   I0                 Marie

Answer: V to I movement make I lexical, and hence L-marks VP.  Since VP is not a barrier, these sentences obey ECP as they do the HMC. 


On the other hand, note that those that disobey the HMC are also ruled out by ECP.  For example, failure to move V-to-I before moving to C (i.e. V-C direct movement) violates HMC, but it also violates ECP because the VP did not become L-marked through V-I movement and hence is a barrier.


If all HMC violations are ECP violations, and all good cases w.r.t. to HMC are good w.r.t. ECP.  Then, we don’t need HMC.  HMC is reduced to ECP.

Further confirmation that HMC ( ECP: incorporation phenomena (Baker 1988)

Mohawk noun-incorporation

(27)
yao    -wir   -a?a    ye-        -nuhmw?   -s      ne     ka    -nuhs    -a?


PRE- -baby –SUF 3sgF/3n –like          ASP the   PRE –house  -SUF


The baby likes the house.

(28) Object incorporates to V

yao    -wir   -a?a    ye-        -nuhs   -nuhmw?


PRE- -baby –SUF 3sgF/3n –house –like


The baby likes the house.     


(cf. Baby-sit, house-sit)

(29) Subject cannot incorporate to V: ECP violation

ye-        -wir    -nuhmw?   -s      ne     ka    -nuhs    -a?


3sgF/3n  baby  –like          ASP the   PRE –house  -SUF


The baby likes the house.

French V-V  incorporation

(30)
J’ai  fait     laver  la   voiture à   Jean

(French)


I’ve  made wash  the car       to  John


I’ve made John wash the car.


Faire-laver ‘cause to wash’ is complex verb with 3 arguments, subject, direct object (the car) and indirect object (to Jean).  Just like give (i.e. ‘cause to have’) in give a book to John  (cause-have a book to John).   Incorporation does not occur with subject or adjunct.  ( ECP ( ( Relativized minimality)

… more 

Syntactic Structure and Word Order Variations: 

Order of constituents in a sentence: not just head-final and/or head-initial

[image: image1.wmf]
SVO, SOV and VSO (VOS, OVS, OSV)

· The problem of VSO: VP constituent?

· Certain orders are obtained by movement

· McClosky’s analysis of Irish: V-to-I but no movement of subject to Spec of IP

· Other proposals for V-initial languages (Austronesian, etc.)

1. Word order variations in Minimalism

· Chomsky 1993, 1995, etc.

- Lexical items come fully inflected in the Numeration, and is merged in toto, functional heads are sometimes completely null.

- In some cases the inflectional features on the inserted item trigger (overt) movement, such V-to-I in French.

- In some cases the inflectional features do not trigger overt movement.  Movement is delayed to LF, hence covert: e.g. English V-to-I.

- Hence French vs. English wrt V-to-I is like English vs. Chinese wrt wh-movement.

2. Lasnik’s hybrid approach

· A mixed approach

- In English, main verbs are entered in the Numeration in their uninflected form.  The inflectional affixes are affixes occupying functional head positions.  The affixes are lowered to the verb by Affix Hopping in PF (under adjacency).  

- These affixes are ‘weak’ (being not phonetically empty), hence they don’t trigger overt movement.

- Also, the main verbs, being in their root form, do not have inflectional features that need to be checked off.

- Movement therefore cannot take place, since neither Greed nor Enlighted Self Interest is relevant here.

- In French, verbs are selected into Numeration in their inflected forms, and the Infl is phonetically empty.

- Hence French Infl is +strong, which needs checking.

- Also, the inflected verbs contain [+strong] features to be checked off.

- Hence overt movement is required due to both Greed and SEI.

- In English, be and auxiliary have are treated the same way as French verbs: they enter Numeration inflected, and they are selected by [e] functional heads.

3. Remarks on Kayne 1994: The LCA and word order variations

(1) A given phrase structure is mapped into a unique linear order, so that if two phrases differ in linear order, they must differ in hierarchical structure.

(2) Asymmetric c-command relations among non-terminals is mapped into precedence relations among terminals, formally as in (3).

(3) The LCA (Linear Correspondence Axiom):

· Suppose:

a.
A is the maximal set of ordered pairs <Xj, Yj> s.t. X, Y are non-terminals and for each j, Xj asymmetrically c-commands Yj.

b. d(X) is the image (the set of terminals) under the domination of a non-terminal X. d(X,Y), the image under dominance of <X, Y> is the Cartesian product of d(X) and d(Y), i.e., the set of ordered pairs {<a,b>} such that a is a member of d(X) and b is a member of d(Y).  The image of a set of ordered pairs {<Xi, Yi>} for 0 < i < n is the union for all i,0 < i < n of d<Xi, Yi>.  Hence d(A) is the union for all j, 0 < j < n of d<Xj, Yj>. 

c. T is the set of terminals (of a given P-marker).  

then: 

d (A) is a linear ordering of T

[A linear ordering is transitive, total, and antisymmetric.]

(4) Consequences of the LCA:

· Universal word order is Spec-Head-Complement (e.g. SVO).

· There is no head-directionality parameter. Ordering differences among languages are attributed to parameters associated with functional elements (e.g., whether certain functional categories trigger head movement or XP movement in a given language that give rise to surface orders that depart from the basic SVO order).

· All phrases are headed (part of X-bar theory derived)

· There is at most one head per phrase (part of X-bar theory derived)

· Specifiers are adjuncts, and adjuncts precede heads.

(5) Pushdown automaton, + internal merge (move)

See also Ilan Landau’s notes

